9.3 Practice Problems

Find the common ratio and write out the first 4 terms of the given geometric senquence. ( OO
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Find the fifth term and the nth term of the geometric sequence whose initial term a and common ratio r are
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Find the indicated term of the geometric sequence.
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Write a formula for the nth term of the geometric sequence.
9. 6,36,216,...
N —

3 3 3
I 10. :\,5,—25,T2§,...
210 l 3
Q| r:3w" ’5 r\»-i—% ~ é— .,._‘1—5: ’_—l
n-\ | —5 s 3 &
On=loelo 2%
| no)
On= "S- ( %>
Find the nth term of the geometric sequence described below, where r is the common ratio.
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